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An English Translation:

Basic Mechanics

S

Consider the motion of a particle of mass m at a distance r (2 Rg) from the center

of a spherical body A with mass M of uniform density and radius Rg. Let Newton’s

gravitational constant be denoted by G. Answer the following questions.
(i) Compute the gravitational potential at r = Rg affected by the spherical body A.

(ii) Obtain the minimum speed Vg such that the particle can be attained at r = oo

where Vg is a speed at a point of the surface of the spherical body A.

(iii) Consider that Vi obtained in (ii) is equal to the speed of light ¢. Obtain the radius
Rg of the spherical body A in terms of ¢ and M.



